Mid Point theorem (mzrﬁg L'I'ﬁ'q):







|8- PQR is a triangle. S and T are the midpoints
P of the sides PQ and PR respectively. Which

of the following is TRUE?
Triangle PST is similar to triangle PQR.
ST= %(QR) J‘(ST is parallel to QR %AII
S T PQR T fX3[aT §| S @UT T Haer a3t PQ
aw pR & wew g ¥ Peafafda o @
&l a1 T §?
a) B3t PST 3T PQR & WA R

&\ R b) ST = %(QR)

c) ST, QR & FHAT &
d) st
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D is any point on side AC
of AABC. If P,Q,X,Y are
the mid points of
AB,BC,AD and DC
respectively, then the
ratio of PX and QY is:

AABC T 8T AC W

D ¥ ﬁ;
P,Q.X,Y HHAA 8
AB,BC,AD 3l DC
ey fig § @ px 3ﬁT
QY T HedTd 9T F|
a)12 g1
c)2:1 d) 2:3
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%.In a parallelogram ABCD,

the mid-point of AB is H. The
line parallel to DH and
passing through B meets
extended AD at K. if BC =
6 cm, then DK is

fohdll FHATETR T ABCD
H ST AB HT ey fag H
¥} TH W@ S DH F
AT § 3R ﬁrcg B ¥
g TRl §, 98 §§

9

dAYDK & dFE1S gaTr F|
a)10cm ;)%4cm

c)8cm 6cm

] °




2l- In a parallelogram ABCD, P
is mid-point of side AB.
From B a line parallel to PD
is drawn which cut DC at Q
and meet extended line of
AD at Rthen BR =7
UF FAG IJAST ABCD
Y AT AB FT AL
P §{BdPDF T
TF @ @ S &
DC & Q YT AT AD &I
e W R W fAadr #
ar BR =?

a) BQ b)%BQ

/ZBQ d) None
| 6




22.The four triangle formed by
(oining the pairs of mid points)of
the sides of a given triangle are
congruent( :sthe given triangle is:
a) An isosceles triangle
b) An equilateral triangle

c) A right angled triangle

/éfanyshape
fredt Rersr A speman & A7ew
fig fAem@ @ s IR P
g § @ AR @l § 3R &
=T et

_ a) GHEIIATE &

b)mmgs?

c) HBIOT gt

d) Tre Far st @t

| RSMSSB LDC 16 Sep 2018| 7



2% PQRA is a rectangle, AP = 22 cm,

PQ = 8 cm. AABC s a triangle whose

K 6C 2716 Q@  pomauch et B~ 3 e O¢

26 16 cm. Then the length of the line

] 1o s Q joining the mid points of the sides AB

3 and BCiis

PQRA Waﬂ'a?-r% AP = 22@. #I,

— — 89, A ¢ | AABC T ﬁraﬁr

A 22 P - m ofif parA @Y Rfes

aﬁnaﬂ tR' s'a ded A & &

2% ao 2 o st o o

| AB BC 3T, HEY

qT e arelt T@r &) aFas gl ﬁﬁ‘:

a) 4V2 cm 5cm
c)6cm d) 10 cm

| SSCCGL T2, 12 Jan 2017 | 8




Twisted triangle:
. A A




4.In the given figure, If

2 2 AD =12cm , AE=
4 f 8cm and EC = 14cm ,
A then what is the value in
22 AR (in cm) of BD?

a w$ mefa A, Al
A= Y AD =12cm, AE =8cm
3 FI'?JTEC=14cm%,F|TBD
HT AT (cm¥) FIT 872
Uy 2 b
=2 /U a)3 ) 15
8 44
s 3 Ve 45

| CGL 2017 T2 | 1



2. In the given figure, if

o =% and PY = 18cm,
| & then what is the value (in
—= cm) of PQ?

ar a$ amefa A, IR
9r 143ﬁT PY =18cm

p %JM

“* %{ ar PQW?HF-I'(cmﬁ')
T 872
/ 28 b) 18
c)21 d) 24

| SSCCGL T2, 18 Feb 2018 | 12



3.In APQR,2Q = 85°and /R =
P 65°. Points S and T are on the
i sides PQ and PR respectively
/9/ such that ZSTR = 95° and the
ratio of QR and ST is 9:5. If
QM g A PQ = 21.6cm , then the
X T length of PT is:
a5 Rt frsr PaR F £Q =
85°3X R = 65° % fag s
o O\ 3 T FAw: pq AR PR W
R Ta & @ 4STR=095,
?-ren QR 3R ST T 3e[urd
.5 ¥ Iy PQ = 21.6¢cm,
a’rPT $ TFEES AT FA?
a) 10.5cm b) 9.6 cm
/le cm d)9cm

|SSC CGL, 04 Mar 2020 S2 | 13




4. In APQR, PQ= 24 cm and 2£Q =

58°. S and T are the points on
side PQ and PR respectively, such
that #«STR =122°. If PS =
14 cm and PT = 12 cm, then
the length of RT is :
APQR®H, PQ = 24cm 3\ 20Q =
58°| s 3R T FAMW: ¥ PQ
IR PRI Rya & g 8 &
(STR=122° | 3Ifg Ps=
14cm 3 PT= 12cm, &t
RT &Y dFars Ad, o]

a) 14.8 cm %16 cm
c)15cm d) 16.4 cm

| SSC CGL, 5 Mar 2020 S2 | 14



5. In AABC, D and E are the

points on sides AC and AB
respectively such that ZADE =
ZB. If AE = 8cm, CD = 3cm,
DE = 6cm and BC =9cm,
then AD is equals to:
AABC #, D R E H#AU: 3T
AC 3R AB W fag § o
#Y LADE = «B| 3f& AE =
8 @, cD=38H,DE=6
A 3k Bc=9 @A A
AD &1 AT AT

a),8cm b) 6 cm
9cm d) 7.5 cm

| SSC CHSL, 03 Jul 2019 S1 | 15




6. In AABC, D and E are the points on

/42 A sides AC and AB respectively such
-Jr‘é’ De that ZADE = zB. If AD = 7.6cm,
_ 71 7.6 AE =7.2cm, BE=4.2cm and
—l-’-,-ﬂ" & BC = 8.4 cm then DE is equal to :

B 28 Y1 E D ABC #, D 3R E wAMw AC
/‘7” i AB R g ¥ W& ZADE =

u.2
S. 6=DE - ¢B , If¢ AD =7.6 9ft, AE =
"YU 7.2 ®H, BE= 4.28HBC =

B 8y C 843, @& DE & AW W

C ¥
a) 6.3cm b) 5.6 cm
c) 74cm 5.6 cm

| CHSL 2018 | 16



. In AABC, D and E are the points on
€ Ae AD A * the sides AB and AC, respectively
such that ZAED = AABC, if
AE = 6cm , BD =2cm ,
DE = 3 cm and BC =
5cm,(AB + AC) is equal to:
AABC #, 31X E FHM: T AB
I AR @ R d ™
¢AED = AABC @] AE =
6cm , BD = 2cm , DE =
3cm 3R BC = 5cm, % ar

(AB + AC) cm & SE
g

86 49

50 70
c) 3 3

17
| SSC CHSL,09 Aug 2021 Sﬂ



g. In the given figure, two identical
circles of radius 4cm touch each
other, A and B are the centres of
the two circles, if RQ is a tangent
to the circle, then. What is the
length (in cm) of RQ?

& 1§ rFfa #, & WA T4

(3

mm4cm% T

F g9 FT W & A T

&g A duTB & uﬁRQH?-rtR
tF woeREr & @ rRQ
JqFETE (cm ®) F4T 872

a) 3V3 b) 26
/4\/5 d) =

| SSCCGL T2, 17 Feb 2018 | 18



Two zs equal (One angle common & one equal):

LABC=LBDC
ACDB~ OHCBA

| | 19



q. If S is a point on side QR of a
triangle PQR such that QS =
10cm , QR =18cm and
£PSR = £QPR, then the
length o@will be:
afe Bt par Hr spam
QR W &g S §H YR
faa & & os=10cm,
QR = 18cm 3 +PSR =
£QPR &, d PR f oFaTE
AT
a)l6cm 12 cm
c)15cm d)14cm

20

|

SSC CHSL, 10 Aug 2021 S



Jo. Consider the triangle ABC
shown in the following
figure where BC = 12cm,
DB=9cm, CD =6 cm and
£4BCD = £BAC. What is
the ratio of the perimeter
of the triangle ADC to that
of the triangle BDC?
et few v @y ABC
# BC = 12cm, DB 9cm,
CD =6 cm BﬁT £LBCD =
£BAC 3| f1et ADC 3R
fefst BDC & "Rt

mwzﬂm’)
7
ul b)—
9 9

6 5

|CAT 2005 | 21




). 'n AABC, AC =8.4cm

and BC =14cm. P is a

point on AB such that

1059 cp=11.2em and

—£.7] 2. £ACP = £B. What is the
length (in cm) of BP?

%.7% a4Bc #~ AC =

8.4cm R BC =

14cmg | P, ABT TH

v fig & o cp=

11.2cm 3R 2ACP =

(B a1 & | BP #

qFATS FIT gI9i?
3.78 b) 4.12
c)3.6 d) 2.8

|SSC CGL, 04 Mar 2020 S3 | 22



|2- In the below figure, AB =
o A 18 cm,BE = 6cm  and
CD =11 cm. if LAED =
£LACB, then find the
length of side AD(in cm).
farr mpfa &, 4B =
18 cm,BE = 6cm 3ﬁT
CD=11cm & 3R
LAED = LACB
ot AD (cm ﬁ') $ ?«lﬁlé‘
qdr &1

7 e
J 21 e 9 2x3 ZxQWZsQ. ,’27
| | 23




[3- In a triangle ABC, AD is

D) i

P A perpendicular to BC and
QDA o~ é 5 BE is perpendicular to AC.
Which one of the

following is correct?
CD: DH;C’A € fasrsr ABC & AD @F 7
CE ER CB BC W, 3 BE @@ ¥ AC
w| A=REaT & @

u! A HITAT TF HEY 87

B D C a) CE X CB=CA X CD

CDxC R —Cexhc A9 CE X CA=CD x CB

c) AD X BD = AE X BE
d) AB x AC=AD X BE




|4. In AABC, AB = AC and D is a

point on side AC such that
BD = BC.I1f AB =12.5¢cm and
BC = 5cm, then what is the
measure of DC?
AABC#, AB = AC 3R D, a1
AC W wF fig ¢ fowd &
BD = BC14f& AB = 12.58
3k Bc = 5 @&, &Y DC #
AT AT HifaA?

a) 2.5 cm b) 3 cm
c)1.8 cm 2 cm

| SSCCPO, 13 Dec 2019 S3 15
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